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Ableiten mit Summen-, Faktor-, Produkt- und Quotientenregel
Berechne jeweils die Ableitungsfunktion f'(x):

a) F(x) =3x3 —2x2 + 1;
b) f(x) = >x% +2x;
¢) fo(x) = Sax?;
d) f(x) = Va3;
e) fe(x) = —=;
3

) f@) =245+

g) f() = 3

h) f(x) = x*(1 — x?);

i) f(x) =(2x* —x)(x —3x?%);
) ) =(x*-5)?%

k) f(x) = (x® = 2x)(x? — 3x);

x2-1
1+x2

) f(x) = ;

m)f(x) =2=;
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n) f(x) =—;
o) f(x) =T

p) f() = o




